
Implicit Differentiation
There are two ways in which a function can be expressed:

1.

explicitly   (y in terms of x)
y = 
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y is _________ for, in terms of x.

2.

implicitly   (y in terms of x)
2x - 5y = 3

y ______ _______ for, in terms of x.

So far we have only differentiated functions that are explicit.  Sometimes it is easier to find the derivative of functions or relations that are in implicit form.
Given the relation:
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y ______ in explicit form.  However, if we put y in explicit form it would look like:




If we had to find the slope of the tangent line at the point (1,
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) it would be ________ to differentiate the _______ half of the ellipse  and solve for  x = 1.

Let's find the derivative of the relation implicitly by taking the derivative of both sides.
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Now lets substitute the point (1,
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) into the derivative so that we can find the slope of the tangent line.

y' = 


y' = 


y' = 













(1,
[image: image6.wmf]2

3

-

)
_1076829124

_1076829129

_1076829145

_1098344252

_1076829127

_1076829122

